CITY OF KENT PROJECT NAME: Smith St. Left Turn Lane at Lincoln Ave. BID OPENING: August 23, 2011 @ 11:00 a.m.		BIDDER'S NAME AND ADDRESS		1 Road Construction NW, Inc. P.O. BOX 188 Renton, WA 98057-0188		2 Rodarte Construction, Inc. 17 East Valley Hwy. East Auburn, WA 98092		3 Tucci & Sons, Inc. 4224 Waller Road Tacoma, WA 98443-1623		4 Westwater Construction Co. 31833 Kent-Black Diamond Rd. Auburn, WA 98092		ENGINEER'S EST Kelly Casteel	IMATE	
		TOTAL	!		\$593,880.00	1	\$611,554.25		\$714,642.25		\$739,455.00		\$536,699.5	
ITEM					TOTAL		TOTAL	L	TOTAL	L	TOTAL	L	TOT	
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	+	AMOUNT	T UNIT PRICE	AMOUNT	T UNIT PRICE	AMOUNT	T UNIT PRICE	AMOU	
	SCHEDULE I - STREET		·		ļ	1					•			
1000	Mobilization	1	LS	\$50,000.00	\$50,000.00	\$60,000.00	\$60,000.00	\$58,000.00	\$58,000.00	\$70,000.00	\$70,000.00	\$39,755.52	\$39,755.5	
1005	Clearing and Grubbing	1	LS	\$18,000.00	\$18,000.00	\$5,000.00	\$5,000.00		\$6,000.00		\$10,000.00	· ·	\$2,000.0	
1006	Remove Existing Tree 12 Inch Diameter or Greater	21	EA	\$200.00	\$4,200.00	\$350.00	\$7,350.00		\$31,500.00		\$16,800.00		\$5,250.0	
1010	Remove Existing Asphalt Concrete Pavement	200	SY	\$15.00	\$3,000.00	\$13.00	\$2,600.00		\$3,000.00		\$800.00		\$600.0	
1015	Remove Existing Cement Concrete Pavement	115	SY	\$15.00	\$1,725.00		\$2,530.00		\$2,300.00		\$805.00		\$1,725.0	
1020	Remove Cement Concrete Sidewalk and Driveway	900	SY	\$11.00	\$9,900.00	\$12.50	\$11,250.00		\$9,000.00		\$3,600.00		\$11,700.0	
1025	Remove Cement Concrete Curb and Gutter	1,450	LF	\$5.00	\$7,250.00		\$13,050.00		\$10,150.00		\$4,350.00		\$5,800.0	
1030	Remove Cement Concrete Extruded Curb	5	LF	\$11.00	\$55.00		\$100.00		\$500.00		\$5.00		\$15.0	
1035	Removal of Traffic Islands and/or Traffic Curb	1	LS	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00		\$1,600.00		\$4,000.00	· ·	\$1,000.0	
1040	Removal of Raised Pavement Markers and/or Thermoplastic Traffic Markings	1	LS	\$2,400.00	\$2,400.00	\$1,000.00	\$1,000.00		\$2,200.00		\$1,000.00		\$1,000.0	
1045	Removal of Traffic Signs	1	LS	\$900.00	\$900.00	\$1,000.00	\$1,000.00		\$3,500.00		\$200.00		\$500.0	
1050	Saw Cut Existing Asphalt Concrete Pavement	1,500	LF	\$2.00	\$3,000.00	\$2.25	\$3,375.00		\$3,000.00		\$1,500.00		\$4,500.	
1055	Saw Cut Existing Cement Concrete Pavement	300	LF	\$6.00	\$1,800.00	\$4.50	\$1,350.00		\$1,200.00		\$3,300.00		\$2,100.	
1060	Roadway Excavation Including Haul	1,350	CY	\$22.00	\$29,700.00	\$28.00	\$37,800.00		\$40,500.00		\$54,000.00		\$27,000.	
1065	Unsuitable Foundation Excavation Including Haul	100	CY	\$24.00	\$2,400.00	\$35.00	\$3,500.00		\$5,100.00		\$4,000.00		\$2,500.	
1070	Geotextile Fabric, Non-Woven	1,550	SY	\$3.00	\$4,650.00	\$2.50	\$3,875.00		\$3,100.00		\$3,100.00		\$4,650.	
1075	Gravel Borrow, Including Haul and Compaction	1,200	TON	\$20.00	\$24,000.00	\$18.00	\$21,600.00		\$32,400.00		\$24,000.00		\$18,000.	
1080	Crushed Surfacing Top Course, 5/8 Inch Minus	420	TON	\$27.00	\$11,340.00	\$22.00	\$9,240.00		\$17,220.00		\$8,400.00	· ·	\$8,400.	
1085	Crushed Surfacing Base Course, 1-1/4 Inch Minus	700	TON	\$27.00	\$18,900.00	\$22.00	\$15,400.00		\$23,100.00	,	\$14,000.00	· ·	\$14,000.	
1095	HMA Class 1/2", PG 64-22	400	TON	\$95.00	\$38,000.00	\$100.00	\$40,000.00		\$40,000.00		\$38,000.00		\$40,000.	
1100	HMA for Full Width Overlay Class 1/2", PG 64-22	870	TON	\$95.00	\$82,650.00	\$85.00	\$73,950.00		\$82,650.00		\$104,400.00		\$69,600.	
1105	HMA for Preleveling Class 3/8", PG 64-22	50	TON	\$135.00	\$6,750.00	\$100.00	\$5,000.00		\$4,750.00		\$6,000.00		\$7,000.	
1110	Planing Bituminous Pavement	1,310	SY	\$9.00	\$11,790.00	\$7.50	\$9,825.00		\$11,135.00		\$6,550.00		\$9,170.	
1120	Fabric Crack Stabilizer	320	SY TON	\$8.00	\$2,560.00 \$4,375.00	\$16.00 \$135.00	\$5,120.00 \$2,275.00		\$4,800.00		\$3,200.00		\$4,480. \$2,500	
1125	Cold Plant Mix for Temporary Pavement Patch	25 90	TON SY	\$175.00 \$90.00	\$4,375.00 \$8,100.00	\$135.00 \$70.00	\$3,375.00		\$2,500.00 \$8,730.00		\$2,500.00 \$11,250.00		\$2,500. \$9,000	
1140 1145	Cement Concrete Driveway, 8 Inch Depth, Reinforced	90 1,020	SY SY	\$90.00 \$27.00	\$8,100.00 \$27,540.00	\$70.00 \$32.00	\$6,300.00 \$32,640.00		\$8,730.00 \$44,880.00		\$11,250.00 \$30,600.00		\$9,000. \$32,640.	
1145 1150	Cement Concrete Sidewalk Parallel Cement Concrete Sidewalk Ramp	1,020 6	SY EA	\$27.00 \$1,100.00	\$27,540.00 \$6,600.00	\$32.00 \$850.00	\$32,640.00 \$5,100.00		\$44,880.00		\$30,600.00 \$12,000.00		\$32,640. \$6,000	
1150	Parallel Cement Concrete Sidewalk Ramp Perpendicular Cement Concrete Sidewalk Ramp	6 2	EA EA	\$1,100.00	\$6,600.00	\$650.00	\$1,300.00		\$8,100.00 \$2,700.00		\$12,000.00		\$6,000	
1160	Single Direction Cement Concrete Sidewalk Ramp	2	EA EA	\$1,100.00	\$2,200.00	\$650.00	\$1,300.00		\$2,700.00		\$4,000.00		\$2,000	
1205	Cement Concrete Curb and Gutter	1,370	LF	\$1,100.00	\$26,030.00	\$20.00	\$27,400.00		\$32,880.00		\$54,800.00		\$2,000	
1203	Cement Concrete Extruded Curb Type 6	5	LF	\$45.00	\$20,030.00	\$100.00	\$500.00		\$32,000.00		\$125.00		\$40	
1210	Pedestrian Curb	125	LF	\$22.00	\$2,750.00	\$25.00	\$3,125.00		\$3,000.00		\$1,250.00		\$1,875.	
1220	Adjust Existing Catch Basin Grate or Curb Inlet Grate to Finished Grade	1	EA	\$500.00	\$500.00		\$350.00		\$500.00		\$1,000.00		\$400.	
1225	Adjust Existing Manhole Cover to Finished Grade	7	EA	\$500.00	\$3,500.00	\$350.00	\$2,450.00	\$500.00	\$3,500.00	\$1,000.00	\$7,000.00	\$400.00	\$2,800	
1223	Adjust Existing Marinole Cover to Finished Grade Adjust Existing Valve Box Top Section and Lid to Finished Grade	9	EA	\$500.00	\$4,500.00	\$350.00	\$3,150.00		\$3,300.00		\$4,500.00		\$2,700.	
1230	Adjust Existing Monument, Case and Cover to Finished Grade	3	EA	\$700.00	\$2,100.00		\$1,050.00		\$1,200.00		\$3,000.00		\$2,700. \$750.	
1315	Pothole Utilities	5	EA	\$550.00	\$2,750.00		\$2,750.00		\$3,750.00		\$2,500.00		\$2,500	
1320	Project Sign Installation	2	EA	\$700.00	\$1,400.00		\$1,300.00		\$2,000.00		\$1,000.00		\$1,000	
1355	Minor Changes	1	CALC	\$3,500.00	\$3,500.00		\$3,500.00		\$3,500.00		\$3,500.00		\$3,500	
1360	Exisiting Irrigation Systems Removal and Modifications TOTAL SCHEDULE I	1	FA	\$1,000.00	\$1,000.00 \$436,240.00	\$1,000.00	\$1,000.00 \$432,505.00	\$1,000.00	\$1,000.00 \$520,820.00	\$1,000.00	\$1,000.00 \$526,035.00	\$1,000.00	\$1,000 \$376,110 .	
	SCHEDULE II - WATER		•		,	1					•			
2000	6 Inch Connection to Existing Water Main	1	EA	\$4,500.00	\$4,500.00	\$4,250.00	\$4,250.00	\$8,500.00	\$8,500.00	\$2,000.00	\$2,000.00	\$1,900.00	\$1,900	
2080	Hydrant Assembly	1	EA	\$5,500.00	\$5,500.00		\$5,000.00		\$6,700.00		\$10,000.00		\$4,500	

CITY OF KENT PROJECT NAME: Smith St. Left Turn Lane at Lincoln Ave. BID OPENING: August 23, 2011 @ 11:00 a.m.		BIDDER'S NAME AND ADDRESS		1 Road Construction NW, Inc. P.O. BOX 188 Renton, WA 98057-0188		2 Rodarte Construction, Inc. 17 East Valley Hwy. East Auburn, WA 98092		3 Tucci & Sons, Inc. 4224 Waller Road Tacoma, WA 98443-1623		4 Westwater Construction Co. 31833 Kent-Black Diamond Rd. Auburn, WA 98092		ENGINEER'S EST Kelly Casteel	IMATE
		TOTAL	'		\$593,880.00		\$611,554.25		\$714,642.25		\$739,455.00		\$536,699.5
ITEM	DECODISTION		- ··NIIT	PDICE	TOTAL		LATOT		TOTAL		TOTAL		TOT
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	+	AIVIUUIN	T UNIT PRICE	AIVIUUIVI	T UNIT PRICE	AIVIUUINI	T UNIT PRICE	AMOUI
2081	Remove Existing Fire Hydrant Assembly TOTAL SCHEDULE II	1	EA	\$900.00	\$900.00 \$10,900.00		\$600.00 \$9,850.00		\$2,400.00 \$17,600.00		\$4,000.00 \$16,000.00		\$500.0 \$6,900.0
	SCHEDULE IV - STORM SEWER		•										
4010	Storm Sewer Pipe, 8 inch Diameter Unlined Ductile Iron	30	LF	\$90.00	\$2,700.00		\$3,450.00	· ·	\$2,700.00		\$1,200.00	· ·	\$2,250.0
4080	Catch Basin, Type 1	3	EA	\$1,100.00	\$3,300.00		\$4,500.00		\$3,240.00		\$3,000.00		\$3,600.0
4111	Round Solid Locking Catch Basin Frame and Cover	2	EA	\$500.00	\$1,000.00	\$300.00	\$600.00	\$350.00	\$700.00	\$250.00	\$500.00	\$450.00	\$900.0
4120	Vaned Catch Basin Frame and Grate	2	EA	\$500.00	\$1,000.00		\$600.00		\$700.00		\$500.00		\$1,000.0
4121	2-Way Vaned Catch Basin Frame and Grate	1	EA	\$500.00	\$500.00	\$300.00	\$300.00	\$350.00	\$350.00	\$250.00	\$250.00	\$325.00	\$325.0
4130	Abandon Existing Storm Sewer Pipe	1	EA	\$400.00	\$400.00	\$350.00	\$350.00	\$500.00	\$500.00	\$25.00	\$25.00	\$150.00	\$150.0
4135	Remove Existing Storm Sewer Pipe or Culvert	10	LF	\$44.00	\$440.00	\$70.00	\$700.00	\$100.00	\$1,000.00	\$25.00	\$250.00	\$10.00	\$100.
4145	Remove Existing Catch Basin or Manhole	2	EA	\$300.00	\$600.00	\$300.00	\$600.00	\$750.00	\$1,500.00	\$500.00	\$1,000.00	\$500.00	\$1,000.
4150	Shoring or Extra Excavation, Class B	115	SF	\$1.00	\$115.00	\$1.00	\$115.00	\$10.00	\$1,150.00	\$1.00	\$115.00	\$1.00	\$115.
4155	Foundation Material Class I and II	3	TON	\$65.00	\$195.00	\$14.00	\$42.00	\$100.00	\$300.00	\$40.00	\$120.00	\$18.00	\$54.
4170	Gravel Backfill for Pipe Zone Bedding	4	TON	\$65.00	\$260.00	\$14.00	\$56.00	\$100.00	\$400.00	\$40.00	\$160.00	\$35.00	\$140.0
4180	Bank Run Gravel for Trench Backfill	7	TON	\$65.00	\$455.00	\$14.00	\$98.00	\$100.00	\$700.00	\$40.00	\$280.00	\$20.00	\$140.0
4210	Thermoplastic Storm Drain Stenciling TOTAL SCHEDULE IV	8	EA	\$45.00	\$360.00 \$11,325.00		\$320.00 \$11,731.00	· ·	\$320.00 \$13,560.00		\$800.00 \$8,200.00	· ·	\$240.0 \$10,014. 0
	SCHEDULE V - TRAFFIC CONTROL		•										
5005	Traffic Control Labor	800	HR	\$47.00	\$37,600.00		\$36,000.00	· ·	\$36,800.00		\$48,000.00	· ·	\$33,600.
5010	Construction Signs Class A	300	SF	\$11.00	\$3,300.00		\$3,750.00	· ·	\$6,000.00		\$3,000.00	· ·	\$3,000.
5015	Traffic Control Supervisor	325	HR	\$48.00	\$15,600.00	\$45.00	\$14,625.00	\$56.00	\$18,200.00	\$65.00	\$21,125.00	\$65.00	\$21,125.
5020	Temporary Traffic Control Devices	1	LS	\$2,500.00	\$2,500.00		\$2,000.00		\$5,000.00		\$2,000.00		\$1,000.
5030	Portable Changeable Message Sign (PCMS)	300	DAY	\$44.00	\$13,200.00	\$75.00	\$22,500.00	\$90.00	\$27,000.00	\$80.00	\$24,000.00	\$125.00	\$37,500.
5035	Sequential Arrow Sign (SAS)	175	DAY	\$44.00	\$7,700.00		\$4,375.00	\$20.00	\$3,500.00		\$3,500.00	\$30.00	\$5,250.
5075	Permanent Channelization	1	LS	\$3,600.00	\$3,600.00	\$3,500.00	\$3,500.00	\$3,200.00	\$3,200.00	\$8,000.00	\$8,000.00	\$4,000.00	\$4,000.
5080	Temporary Pavement Marking	2,700		\$0.25	\$675.00	\$1.00	\$2,700.00	\$0.15	\$405.00	\$0.20	\$540.00	\$0.30	\$810.
5135	Permanent Signing TOTAL SCHEDULE V	1	LS	\$7,000.00	\$7,000.00 \$91,175.00		\$10,000.00 \$99,450.00		\$7,500.00 \$107,605.00		\$12,000.00 \$122,165.00		\$2,000. \$108,285 .
	SCHEDULE VI - ELECTRICAL		!										
6020	Conduit Pipe 2 Inch Diameter Sch. 80 PVC for Future Traffic Signal and Interconnect	430	LF	\$8.00	\$3,440.00	\$6.00	\$2,580.00	\$19.25	\$8,277.50	\$15.00	\$6,450.00	\$4.00	\$1,720.
6025	Conduit Pipe 4 Inch Diameter Sch. 80 PVC for Future Fiber	770	LF	\$10.00	\$7,700.00	\$18.00	\$13,860.00	\$23.25	\$17,902.50	\$20.00	\$15,400.00	\$5.00	\$3,850.
6030	Junction Box, WSDOT Type 8	5	EA	\$1,800.00	\$9,000.00		\$8,500.00	\$1,620.00	\$8,100.00		\$10,000.00	\$1,400.00	\$7,000.
6035	Sand for Conduit Bedding TOTAL SCHEDULE VI	28	TON	\$65.00	\$1,820.00 \$21,960.00		\$392.00 \$25,332.00		\$2,296.00 \$36,576.00		\$1,680.00 \$33,530.00		\$560. \$13,130. 0
	SCHEDULE VII - TEMPORARY EROSION AND SEDIMENTATION												
7000	Seeding, Fertilizing and Mulching	0.15	AC	\$4,500.00	\$675.00		\$750.00		\$750.00		\$600.00		\$300.
7005	Filter Fabric Fence	550	LF	\$4.00	\$2,200.00		\$2,200.00		\$2,200.00		\$4,400.00		\$3,300
7015	Inlet Protection	14	EA	\$70.00	\$980.00	\$85.00	\$1,190.00	\$80.00	\$1,120.00	\$100.00	\$1,400.00	\$65.00	\$910.
7020	Straw Mulch Hand Applied	175	SY	\$4.00	\$700.00	\$0.30	\$52.50	\$0.30	\$52.50	\$1.00	\$175.00	\$3.00	\$525.
7025	Clear Plastic Covering	175	SY	\$4.00	\$700.00	\$2.25	\$393.75	\$2.05	\$358.75	\$3.00	\$525.00	\$2.00	\$350
7030	ESC Lead	200	HOURS	\$12.00	\$2,400.00	\$65.00	\$13,000.00	\$10.00	\$2,000.00	\$60.00	\$12,000.00	\$30.00	\$6,000
7055	Temporary Erosion/Water Pollution Control	1	FA	\$2,500.00	\$2,500.00		\$2,500.00		\$2,500.00		\$2,500.00		\$2,500
7070	Wattle	100	LF	\$12.00	\$1,200.00		\$350.00		\$350.00		\$300.00		\$500
7075	Street Cleaning	45	HOURS		\$6,525.00		\$6,750.00		\$5,400.00		\$5,625.00		\$3,375
7080	Spill Prevention, Control and Countermeasures Plan	1	LS	\$900.00	\$900.00		\$500.00		\$250.00		\$1,000.00		\$500

CITY OF KENT PROJECT NAME: Smith St. Left Turn Lane at Lincoln Ave. BID OPENING: August 23, 2011 @ 11:00 a.m.	BIDDER'S NAME AND ADDRESS	1 Road Construction NW, Inc. P.O. BOX 188 Renton, WA 98057-0188	· ·	4224 Waller Road		ENGINEER'S ESTIMATE Kelly Casteel
	TOTAL	\$593,880.00	\$611,554.25	\$714,642.25	\$739,455.00	\$536,699.52
ITEM		TOTA	L TOTAL	TOTAL	TOTAL	TOTAL
NO. DESCRIPTION	QTY UNIT	UNIT PRICE AMOUN	T AMOUNT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT
TOTAL SCHEDULE VII	\$18,780.00	\$27,686.25	\$14,981.25	\$28,525.00	\$18,260.00	

CITY OF KENT PROJECT NAME: Smith St. Left Turn Lane at Lincoln Ave. NAME A			1 Road Construction P.O. BOX 188	on NW, Inc.	2 Rodarte Construc 17 East Valley Hv	·	3 Tucci & Sons, Inc. 4224 Waller Road		4 Westwater Const 31833 Kent-Blac		ENGINEER'S ESTI Kelly Casteel	MATE	
BID OPENING: August 23, 2011 @ 11:00 a.m.		ADDRES		Renton, WA 980	157_∩188	Auburn, WA 980	•	Tacoma, WA 984		Auburn, WA 980		Kelly Casteel	
DID OF ENTING. August 25, 2011 & 11.00 d.III.		ADDRE	33	Kenton, WA 300	137-0188	Aubuiti, WA 900	72	Tacoma, WA 704	43-1023	Aubuiti, WA 460	72		
		TOTAL			\$593,880.00		\$611,554.25		\$714,642.25		\$739,455.00		\$536,699.52
ITEM					TOTAL		TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT		AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
8005	SCHEDULE VIII - ROADSIDE RESTORATION Topsoil Type A Total Schedule VIII	100	СҮ	\$35.00	\$3,500.00 \$3,500.00	\$50.00	\$5,000.00 \$5,000.00	\$35.00	\$3,500.00 \$3,500.00	\$50.00	\$5,000.00 \$5,000.00	\$40.00	\$4,000.00 \$4,000.00
	SUMMARY												
	Total Schedule I (Street)				\$436,240.00		\$432,505.00		\$520,820.00		\$526,035.00		\$376,110.52
	Total Schedule II (Water)				\$10,900.00		\$9,850.00		\$17,600.00		\$16,000.00		\$6,900.00
	Total Schedule IV (Storm Sewer)				\$11,325.00		\$11,731.00		\$13,560.00		\$8,200.00		\$10,014.00
	Total Schedule V (Traffic Control)				\$91,175.00		\$99,450.00		\$107,605.00		\$122,165.00		\$108,285.00
	Total Schedule VI (Electrical)				\$21,960.00		\$25,332.00		\$36,576.00		\$33,530.00		\$13,130.00
	Total Schedule VII (Erosion and Sedimentation Control)				\$18,780.00		\$27,686.25		\$14,981.25		\$28,525.00		\$18,260.00
	Total Schedule VIII (Roadside Restoration)				\$3,500.00		\$5,000.00		\$3,500.00		\$5,000.00		\$4,000.00
	CONSTRUCTION CONTRACT TOTAL				\$593,880.00		\$611,554.25		\$714,642.25		\$739,455.00		\$536,699.52